3.2.5

1)

(2)

3)

(a)
(b)
(c)
(d)
(e)

€))
(b)
(c)

(d)
(e)
(f)
(9)

(a)
(b)
(c)

1)
2)
3)
4)
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(1)

€))
(b)
suzukin@kajima.com
maruta@kajima.com
tagamijun@kajima.com
nagaikaz@kajima.com
kaneko-takashi@kajima.com
motomi@kajima.com
(c)
(d)
1)
2)
3)
(e)
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) 1

(a)

1.2 1.8 0.1 0.3 0.3
=+0.2
0.1lrad/sec 1 000
6.9~9.5%
11.3%
(b)
2
(c)
1)
1
2)
a)
1 1 3
1/3
(250>=<250mm) (8-D13 2-D6@50)
D-1 D-2 D-3 D-4 D S-1 S-2 S-3
S-4 S ( )
(1.2 1.8) (0.1 0.3 0.3%0.2)
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D-1 S-1 D-2 S-2 D-3 S-3 D-4 S-4
(mm>=mm) 250>=<250 ( > )
(oy:N/mm?2) 8-D13 SD345 (oy=391) (Pg = 1.63%)
(o wy:N/mm?2) 2-D6@50 SD295 (owy=400) (Pw = 0.51%)
1.8 1.8 1.2 1.8
N/bDFc *! 0.1 0.3 0.3 0.3%+0.2
(N/mm2) 29.6 29.4 | 29.7 29.9 | 30.7 31.3 30.9 | 314
(><103N/mm?2) 26.2 27.4 | 27.2 27.6 27.5 26.7 27.0 | 27.8
(kN)*2 123 159 239 167
(kN)™3 158 158 158 158
x4 1.27 1.00 0.67 0.95
*1 Fc =27.2N/mm?2 0.1 170kN 0.3 510kN
*2
*3 2 (Rp=0.01)
*4 /
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220
125
.30
EHUEE 30 95 95 30
BEmbhE  pas 82 g2 235
F i (EEHBRARE) q 4
o_n4n2 O C C 1
O-LJ1V ‘Ps%
WA 4 4 N
2-D6@50mm o7 § =
: O G A
¥ % \ b
o o g—t (o)
EF—CHEBATEER B —CEMMATEES
= 250 =
1
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2 (D-1 D-2 D-4 S-1 S-2 S-4)
M2y
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i —  —
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b)

R=1/800 1/100

R=1/100
5
6 H=20
F 1 Ti=
0.02H= 0.4
F=1/T1= 2.5Hz
\Y%
50cm/s
3
Sv=150cm/s
1
(1) (3
(4)
(1) (4)
V 0.lrad/s

R=1/50 1.2Hz R=1/25 0.6Hz
R=1/16 0.4Hz

B Ui=3m; qui/ I 1uP=3 i/(2n+1) (1)

S\/i:lﬂ QUj SV e (2)

T /m//\\
T
TRl

900
800 12 -
I

I

(rad)

i

700 1/4¢ n n

(kN)

600|-1/800__A
50

;ggJ\MN

200
100
0

o O

“———_0

0.6

0.2
0.1
—~————
00—
-40x10 -20 0 20 40
(rad.)
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ASVi:SVi-SV(i_l):3 SV/(2n+1) e,
V—ASVi/h ...........................................
1B m;
1Ui:l n h:
4~6
1
3
D-4 S-4
6
4)
3)
a)
i)

0.3

110¢
S 100 %
X
elol
80]
o D-1
/AA O D-2|
j A D-3
60 v D4
50 : 3
20 30 40 50 60x10
(rad.)
8
120
110
g i 0
S 100
e oo 2 m %
\V4
90 @ %
80 (74
,,,,, [} e D-1]
70‘ o D-2
A A D3|
€0 v D-4
50 : 5
0 10 20 30 40x10
(rad.)
9
7 Clough
+0.2
1,000
A/D PC
500Hz 1.0Hz
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R=1/800
R=1/200

i)

R=1/800

i)

b)

D-3

58~108%
77~98%
R=1/100
1/400
87~106%
D-1 D-2 D-3
+30kN
D-4
R=1/25rad
S-3
D-2
D-3
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R=1/400 66~101%
86~100%
9
62~95% R=1/100
+1.8%
2
R=1/400
R=1/100
R=1/50
R=1/25
R=1/16 135
S-3 R=1/100
R=1/50
R=1/25 135



-6vT -

2 R=1/25




3 10 17

D-1 6.9% D-2 8.8% D-4 9.5%
S-1 S-2 S-4 D-3
s-3 11.3%
0.1 0.3
30.0% 0.1 0.3
30.8%
R=1/25
D-3 S-3
80%
3
10 17 e
0.87~1.1
3
D-1 | S1 | D2 | S22 | D-3 | $3 | D-4 | S-4
(KN/mm)* 77.9 | 75.1 | 87.7 | 84.1 |212.6 | 205.3 | 84.1 | 80.0
(KN)*2 145 | 136 | 193 | 177 187 | 170
(rad) 1/68 | 1/68 | 1/128 | 1/109 1/105 | 1/89
(KN)*2 148 | 137 | 193 | 179 | 271 | 244 | 191 | 173
(rad) 1/43 | 1/30 |1/123 | 1/74 | 1/119 | 1/108 | 1/56 | 1/54
(rad.)*s 1/24 | 1/17 | 1/26 | 1/25 | 1/50 | 1/56 | 1/34 | 1/34
*4 F F F F S S F F
*1 1/2
*2
*3 80
*4 F S
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300 —— 1
****** o4 |
200 |- R s e et S .
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4)

a)
3.91~4.29< 104
/sec
5 5
45y :[0'94—0'05"0{;]}5 Gy f7rr T 5
dO'y sOy = (M /sec)
13.0~13.2
(5)
4
108
113% 110 111%
4
S-1 S-2 D-1 D-2
(kN) 123 159 135 170
(kN) 136 177 145 193
/ (%) 110 111 108 113

- 155 -




b)

1/100
8> 103 /sec
(5) 9.6
1.24><104pa/sec 4(6)
dOp = [0944_ 0.06- |Og(;JJS G " et (6)
dO'B sOB = (M /sec)
(6) 18.6%
2 211kN
271kN 78% 5 188kN 244KN
5 77
5
S-3 D-3
(kN) 188 212
(kN) 244 271
77 78
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2
22
R=1/25
S0 —O- D-1
ﬁ - 51
||
g 30 \%&
20
xu\
10
% 10 20 30 40x10°
(rad.)
18
(D-1 S-1)
200 ‘
180 (% -~ D-3
160 %& -~ S3
140
g 5\
5120
<100 \\
80 [ &
60
40 \S\
2 N
Oo 10 20 30 40x10°
(rad.)
20
(D-3 S-3)
60 3
q —O— D-4 ( )|
50 \ - 54 ( 3
£ 4 @\
<L\
= 30 E\
20
S
10
Oo 10 26 30 40x10°
(rad.)
22
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3

3

Keq 18
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=
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20 T
10 e
) | )
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80 \ - 54 ( )N
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E
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<
50 B\
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2 \\
10 T \D
0 i
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21
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1.4
=13
(]
X
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A < L 3
g 1.0 o
. o D1 s1
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0.8 o D-4 S4
e D4 S4
0.7 i
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(rad.)
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d)

Sw 6 D-1
S-1 D-1
S-1
2 w 24 27
6
D-1 S-1 D-2 S-2 D-3 S-3 D-4 S-4
>w 456 | 5.14 | 4.86 | 420 | 1.49 | 1.12 | 3.44 | 2.45

(><104kN mm)
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32
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-~ D1
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g -
20 et
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(d)

0.1rad/sec 1/1000

6.9~9.5%
11.3%
80%
(e)
1)
Vol.492 pp.69-77  1997.2
2) 1999.
3) 1982.12.
4) 1990.8
5)
NO.482 P.83-92 1996 4
f
16
7 7
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(3) 1
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1)
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